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ET-1927
LL.B. (Three Years) ENTRANCE TEST, 2019-20

1. In the following sentence, improve the part printed in italic, if needed.

The police accused him for theft.

(A) of (B) in

(C)- with (D) to _
2.  Select the pair which has the same relationship?

Corporeal : Spiritual

(A) Mesa : plateau (B) Moron : savant

(C) Foreigner : immigrant (D) Pedagogue : teacher
3.  Select the pair which has the same relationship?

After : Before

(A) First : Second (B) Present : Past

(C) Contemporary : Historic (D) Successor : Predecessor
4. Fill in the blanks with appropriate word :

The machine is difficult to build ........... easy to maintain.

(A) And (B) For

(C) But. D) If
5. Fill in the blanks with apporoiate word :

Man must ............... to stop pollution.

(A) Act (B) Perform

(C) Operate (D) Behave
6. Fill in the blanks with appopriate word :

Those who persist in the endeavor at long last triumph ................ the odds of life.

(A) On > (B) Upon

(C) About (D) Over
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7. Find the correct sequence to form a sentence out of the following words :

k) do

2. today

3. you

4. must

- e

(A) 34152 (B) 25413
(© 12543 (D) 51324

8. Find the correct sequence to form a sentence out of the following words :

=3

2. help

3. not

4. you

5. did e

(A) 24351 B) 15324
(©) 45231 (D) 15432

9. Find the correct‘scquence to form a sentence out of the following words :

L of
2.  we
3. heard
4. him
5. had
(A) 42351 ; (B) 25431
(©) 25341 (D) 25314
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10. Fill in the blanks

He ... sat there for three hours.
(A) Has (B) Does
(©) Do (D) Be

11. Fill in the blanks :
I think, you ........ read more books. .
(A) Does (B) Must
(C) Done (D) Must been

12. The monopoly of Indian trade of the East India Company was abolished by the .........
(A) Regulating Act, 1773 (B) Charter Act, 1813
(C) Charter Act, 1833 (D) Government of India Act, 1858

13. The train "Thar Express' between India and Pakistan originates in India from ........

(A) Jaisalmer (B) Jodhpur
(C) Barmer (D) Bikaner

14. Tsunami is originated due to........
~ (A) Sea Waves (B) Hurricane
(C) Rotation of the Earth (D) Earthquake

15. Nathu La Pass is in........
(A) Himachal Pradesh (B) Sikkim
(O) _Arunachal Pradesh (D) Jammu and Kashmir

16. Ampere is the unit of........
(A) Electric current (B) Magnetic field
(C) Electric charge | (D) Resistance
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17. Which among the following is the largest data storage unit for computers?
(A) TB (B) GB
© MB D) KB

18. Percentage of lead in pencil is........ P
(A) 20, ° (B) 40
©) 80 (D) Zero

19. Quinine is obtained from........
(A) Pappaver (B) Canabies
(C) Cinchona (D) Acontium

20. Total number of bones found in man is......
(A) 202 (B) 200
(C) 206 (D) 212

21. 'Bihu’ is the famous folk dance of.......
(A) Andhra Pradesh (B) Haryana
(C) Assam (D) Bihar

22. Who designed the current Indian Rupee Sign?
(A) Udaya Kumar Dharmalingam (B) T.R. Mahalingam

(C) Hari Prasad Chaurasia (D) K.R. Kumaraswamy

23. World Health Day is observed every year on .........

(A) 8th March (B) 7th April
(C) 7th March " (D) 8th April
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24. Who was the first Indian women to preside over the Indian National Congress?
(A) Sarojini Naidu (B) Padmaja Naidu
(C) Annie Besant (D) Pritilata Waddekar

25. What is the minimum age required to become a member of Rajya Sabha?
A) 35 ®) 21
© 25 ®) 30

26. Which country has officially recognised Bitcoin as currency?
(A) Japan (B) South Korea
(C) Norway (D) Thailand

27. What is the name of the Indo-Nepal Joint Military Exercise?
(A) Mithra Shakti (B) Hand-in-Hand
(C) Surya Kiran . (D) Prabal Dostyk

28. Budget is known as........
(A) Annual Financial Statement (B) Annual Budget
" (C) Financial Statement of the Year (D) It has no other name

29. Habeas Corpus means........
(A) Produce the body (B) Produce the record
(C) Produce the evidence (D) Produce the testimony

30. Unless there are exceptional circumstances, a woman in India cannot be arrested.........
(A) Before 9 AM (B) Before sunset

(C) After 9 PM (D) After sunset and before sunrise
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31.

32.

33.

35.

37.

Dr. V. Kurien has distinguished himself in which of the following areas?
(A) Dairy Development (B) Poultry Farms
(C) Economic Reforms (D) Atomic Energy

In which year, the Right to Information Act came into existence?
(A) 2000 - (B) 2002

© 2005 (D) 2006

Which of the following is the world's largest desert?

(A) The Great Australian Desert (B) Arabian Desert
(©) Gobi (D) Sahara

X-Rays are ....... waves

(A) Longitudinal (B) Transverse

(C) Electromagentic (D) Elastic

-

Mother Teresa was awarded Nobel Peace Prize oo
(A) 1976 B) 1979
© _ 1969 D) 1971

Where was the first Municipal Corporation in India set up?

(A) Bombay (B) Calcutta
(C) Delhi (D) Madras
Scissor : Cloth : : ........... : Wood

(A) Axe ®) Stone

(C) Knife " (D) Roller
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39.

41.

42.

43.

Race : Fatigue : @ ...coeeee 5 g s _

(A) Track : Athlete (B) Fast : Hunger
(C) Ant: Bug (D) Walking Running

Star : Constellation : : ...

(A)" Car : Wheel (B) Battalion : Soldier

(C) Quintal : Tonne (D) Electric motor : Copper coil
Find the odd one :

(A) Door (B) Window

(C) Glass (D) Ceiling

Find the odd one :
(A) Igloo (B) Bungalow
(C) Hat (D) Showroom

-

Determine the following pattern and find the correct answer :

6, 12, 21, 33, ?
(A) 38 (B) 40
©) 45 (D) 48

Determine the following pattern and find the correct answer :

RUXAD?
(A) E ®B) F
© G D) H

Rohit said, "This girl is the wife of the grandson of my mother'. How is Rohit related to the girl?
(A) Father (B) Grandfather
(C) Husband (D) Father-in-law
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45.

47.

49.

50.

In a certain code language, f ENGLAND is written as 1234526 and FRANCE is written as
785291, how is GREECE coded? -

(A) 381171 (B) 832252
(©) 835545 (D) 381191

Introducing Sonia, Aamir says, "She is the wife of the only nephew of only brother of my
mother." How Sonia is related to Aamir?

(A) Wife (B) Sister
(©) Sister-in-law (D) Aunt

Which one set of letters when sequentially placed at the gaps in the given letter series shall
complete it?

—po_mp_n_ _ onmpo _.
(A) opmpnm (B) mponpo
(C) mnopnm (D) mnompn

Two trains for Mumbai leave Delhi at 6 am and 645 am travel at 100 kmph and 136 kmph
respectively. How many kilometers from Delhi will the two trains be together?

(A) 2624 km (B) 260 km
(C) 283.33 km (D) 275 km

Interest : Money lender : : Salary : ?
(A) Employees (B) Zamindar
(C) Workers (D) Prisoners

If MIND becomes KGLB and ARGUE becomes YPESC, then what will DIAGRAM be in
that code?

(A) BGYEPYK (B) BGYPYEK
(C©) GLPEYKB (D) LKBGYPK
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51. A class of boys stands in a single line, One boy is 19th in order from both the ends, How many
boys are there in the class ? :

A 39 B) 38
© 36 ®) 37

52. From his house, Lokesh went 15 km to the North. Then he tumed west and covered 10 km. Then
he turned south and covered 5 km. Finally turning to the east, he covered 10 km. In which
direction is he from his house?

(A) East (B) West
(C) North (D) South

53. 7 isto 34 as 5 is to?
(A) 22 B) 41

© 33 D) 54

54. Arrange the given words in a meaningful sequence :

1.  Grain

2. Plant

3. Sandwich

4. Bread

5. Dough

(A) 1,2,5 43 B) 2,1,43,5
© 2,1,4,53 D) 2,1,543

55. Find the one which does not belong to the group?
(A) Mirage (B) Pond
(C) Oasis ' (D) Fountain
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56. Which word does NOT belong with the others?
(A) Inch (B) Yard
(C) Ounce (D) Centimeter

57. Pride is to lion as shoal is.to =
(A) Teacher (B) Student
(C) Self-respect (D) Fish

58. Staﬁemem:A]lcupsatebooks.Allbooksamshiﬂs. '
Conclusions : ; ¥

1. Some cups are not shirts.
II. Some shirts are cups.

(A) Only I conclusion follow (B) Only I conclusion follow

(C) Either I or II follows (D) Neither I nor I follows

-59. EGIK : FILO : : FHIL : 7-
(A) JGMP (B) JGPM
(C) GIMP (D) GMIP

60. Which number will complete the series?

63, 72, 81, 90 ......... , 108
(A) 88 ®) 99

© 100 D) 117

61. thegimﬂumﬁwwmds,seleamewmdwlﬂchcmnmbefommdusingthemof

the given word:

PRONOUNCEMENT

(A) Mount (B) Cement
(C) Pavement () Noun
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62.

65.

66.

67.

e

Which of the following expresses the given sentence in indirect speech?
He said to her, "What a cold day!"

(A) He told her that it was a cold day

(B) He expressed that it was a cold day

(C) He exclaimed sorrowfully that it was a cold day
(D) He exclaimed that it was a very cold day

Find the correctly spelt word.
(A) Foyre (B) Foayer
(C) Foyer (D) Fouyer

Choose from the following a word which is opposite to 'Adulate’ ?
(A) Canonize (B) Abominate
©) Deify (D) Idolize

Fill in the blanks witl adjectives given below the following sentence :
........... guests came to see him this evening but he saw only ........

(A) A little, a few (B) A few, a little
(© A lot of, a few (D) Some, a few

In the following sentence, improve the part printed in bold, if needed.
They wanted to know where was his house?

(A) where is his house (B) where his house was
(C) where his house be (D) where his house is

Select the pair which has the same relationship?
(A) business : startegy (B) soldier : students
(C) war : logic (D) team : individual
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69.

70.

71.

72.

73.

(A) a (B) the
(C) an L (D) done

Choo;‘éthcwmdmostsimi]arinmeaningto'Amend'. =
(A) Increase (B) Improve
(C) Simplify (D) Reduce

Choose the word most similar in meaning to Delirious’
(A) Delicious (B) Pleasing

(C) Desperate (D) Excited
Choose a correct word ott of the following :
(A) Misterious (B) Mistereous

(C) Mysterious (D) Mestyrious

Choose the correct word to complete the following sentence :

The grapes are now ......... enough to be picked.
(A) ripe (B) ready
(C) mature (D) advanced

Which word can be substituted for 'A person who has no money to pay off his debts?
(A) Poor ~ (B) Pauper

(C) Insolvent (D) Destitute
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74.

75.

76.

717.

78.

Which of the follcﬁing expresses the given sentence in correct Passive voice ?

The boy langhed at the beggar.

(A) The beggar was laughed by the boy

(B) The beggar was being laughed by the boy
(C) The beggar was being laughed at by the boy
(D) The beggar was laughed at by the boy

What is the opposite to 'NADIR'?
(A) Modemity (B) Zenith
(C) Liberty (D) Progress

Find the correct sequence of the given words :

P : as we see it

Q : speak the truth

R : there is falsehood and weakness

S : even if all around us

(A) RQSP (B) QRPS
©) RsSQp (D) QPSR

Fill in the blanks with correct word given below the following sentence :

Many areas of the city were ................. into darkness for several hours.
(A) spread (B) deep
(©) plunged (D) merged

Choose the one which can be substituted for the given words :
Anything written in a letter after it is signed.

(A) Transcription (B) Addendum
(C©) Endorsement (D) Postscript
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79.

81.

82.

Choose the most suitable articles to fill in the blanks.
....... apple is ....... fruit. :

(A) an, a (B) a, the
(C) an, the D) a a

Fill in the blanks with suitable word given below the following sentence :
It is ngthmg ....... but pride.

(A) ever (B) yet
(C) else (D) since

Out of the following options, choose the correct one for the given sentence :
The party stalwarts have advised the President to take it lying down for a while
(A) To be cautious (B) To show no reaction

(C) To be on the defensive (D) To take rest

Find out whether there is any grammatical error in the following sentence :

Though child marriage / has been banned but / the custom still prevailed among some groups
in India.

(A) Though child marriage

(B) has been banned but

(C) the custom still prevailed among some groups in India

(D)- No error

Which of the following expresses the given sentence in passive voice?

The boys were playing cricket.

(A) Cricket was being played by the boys (B) Cricket had been played by the boys
(C) Cricket has been played by the boys (D) Cricket was played by the boys

What is the plural form of the word 'Ox"?
(A) Ozxes 5 B) Ox
(©) Oxs (D) Oxen
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85.

86.

=

Find out whethér' there is any grammatical error in the following sentence:
The capital of Yemen / is situating / 2190 meters above / the sea level.

(A) The capital of Yemen (B) is situating
(C) 2190 meters above (D) the sea level.

Complete the following sentence with appropriate word :

Lord Buddha .............. his kingship and become a hermit.
(A) Abolished (B) Abated
(C) Abdicated (D) Absolved

Find the correct spelt word.
(A) Promiscuous (B) Promescuous
(C) Promiscuos (D) Promescuous

Which of the following expresses the given sentence in direct speech?
I told him that he was not working hard.

(A) 1 said to him, "You are not working hard."
(B) 1 told to him, "You are not working hard."
(C) 1 said, "You are not working hard.”

(D) 1 said to him, "He is not working hard.”

Which of the following is the synonym of 'Justification'?
(A) Plea (B) Avow
(C) Protest (D) Expostulate

Which of the following is the antonym of 'Heinous'?
(A) Odious : (B) Flagrant
(C) Serious (D) Exemplary
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921.

92.

93.

95.

Which of the following is the synonym of 'Altercation'?
(A) Change (B) Charge
(C) Heated Dispute (D) Distribution

Which of the following is-the antonym of 'Gloomy'?
(A) Discouraging (B) Disguising
(C) Bright (D) Tragic -

Which of the following expresses the given sentence in Passive voice?
They will demolish the entire block.

(A) The entire block is being demolished by them

(B) The entire block will be demolished by them

(C) The block may be demolished entirely by them

(D) The entire block will have to be demolished by them

What can be substituted for:

That which cannot be avoided

(A) Inevitable (B) Imreparable
(©) Incomparable (D) Indisputable

What can be substituted for:

Murder of man
(A) Regicide (B) Fratricide
(C) Homicide - (D) Genocide

What can be substituted for : -
A disease which spreads by contact

(A) Incurable (B) Infectious

(C) Fatal (D) Contagious
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97. Complete the fo]ihwing sentence with appropriate word :

I suffer from no ......... about my capabilities.
(A) Ilusion (B) Doubts
(C) Hallucinations (D) Imaginations

98. The correct sequence of the following should be:
I read an advertisement that said
P : posh, air-conditioned
Q : gentleman of taste
R : are availabe for
S : fully furnished rooms
(A) PQRS (B) PSRQ
(© PSQR (D) SRPQ

99. The correct sequence of the following should be:
He sat :
P : through the Town Hall Park
Q : which flanked a path running
R : under the boughs
S : of a spreading tamarind tree
(A) PQSR (B) RSQP
(© RSPQ (D) PRSQ

100. In the following sentence, improve the part pﬁnted in italic, if needed.
My Opinion for the film is that it will bag the national ward.
(A) Opinion to ~ (B) Opinion on
(C) Opinion as 7 (D) Opinion about
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